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Histogram Vars
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Positive Hel (ON): 19.110117 +/- 0.043784
Negative Hel (ON): 18.298866 +/- 0.041160
Positive Hel (OFF): 5.813865 +/- 0.003089
Negative Hel (OFF): 5.809474 +/- 0.003060

Sums and Diffs

On Diff: 0.811252 +/- 0.009730
Off Diff: 0.004390 +/- 0.003274
On Sum: 37.408983 +/- 0.084426
Off Sum: 11.623339 +/- 0.005204

Asymmetries

On Asym: 31.461364 +/- 0.391216 (ppt)
Off Asym: 0.170268 +/- 0.126978 (ppt)

-------- Bkgd Subtraction

BkSub Sum: 25.785643 +/- 0.084586
BkSub Asym: 31.291096 +/- 0.411307 (ppt)
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